PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				2,155	cords	
Pulpwood (Total)				2,155		
Saw Timber						
Hardwood				172,641	board feet	
Saw Timber (Total)				172,641		
Total Pulpwood, Chip & Saw	,					\$226,890
Saw Timber FOB Mill						
Total Forestry Stumpage						\$86,908
Forestry (Total)						\$226,890
FRUITS						
Citrus						
Satsumas	*	13.0	287.00	3,731	bu.	\$37,310
Citrus (Total)		13.0				\$37,310
Fruits (Total)		13.0				\$37,310
HAY FOR SALE						
Grass	*	80.0	2.50	200	tons	\$10,000
Hay for Sale (Total)		80.0				\$10,000
HOME GARDENS	2,900					\$870,000
SOYBEANS	*	618.0	42.00	25,956	bu.	\$161,187
SUGARCANE						
Raw Sugar	7	4,204.0	5,125.00	21,545,500	lbs.	\$2,617,778
Molasses		4,204.0	154.00	647,416	gal.	\$93,875
Sugarcane (Total)		4,204.0				\$2,711,654
SWEET POTATOES		<u>,</u>				
Fresh				50		\$700
Sweet Potatoes (Total)	*	1.0	50.00	50	bu. (50 lbs.)	\$700

#### DI ANT ENTEDDDIGEG DDODLCTION

Page 1 of 4

J	umber of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Broccoli (Fresh)	*	2.0			cartons (20 lbs.)	
Cabbage					,	
Fresh	*	4.0	580.00	2,320	sacks (50 lbs.)	\$16,240
Cabbage (Total)		4.0				\$16,240
Cucumber						
Fresh	*	2.0	270.00	540	bu. (50 lbs.)	\$5,400
Cucumber (Total)		2.0				\$5,400
Mustard (Fresh)	*	4.0	600.00	2,400	doz. bunches	\$16,800
Okra (Fresh)	*	4.0	425.00	1,700	bu.	\$42,500
Green Onions	*	2.0	750.00	1,500	lbs.	\$3,000
Shallots	*	2.0	1,010.00	2,020	doz. bunches	\$12,120
Sweet Corn (Fresh)	*	5.2	525.00	2,730	doz. ears	\$9,555
Tomatoes (Field)	*	1.0	1,300.00	1,300	lugs (20 lbs.)	\$23,400
Turnips (Fresh)	*	4.0	530.00	2,120	doz. bunches	\$14,840
Vegetables (Total)		30.2				\$143,855
TOTAL ALL PLANT ENTERPR	RISES					\$4,161,595

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
MARINE FISHERIES Crabs **			30,387	lbs.	\$42,034	
Marine Fisheries (Total) FUR ANIMALS ALLIGATORS (WILD)			1,949 3,502	pelts	\$42,034 \$14,306 \$73,553	
HUNTING LEASES All Other Game	6	6,000 No. Acres	5,502	acre	\$73,000	
	0	Leased		uere		
Hunting Leases (Total)					\$33,000	
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES				\$162,892	

\*\* The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
CATTLE & CALVES Steer Calves 400-500 lbs. Steer Calves (Total) Heifer Calves			65	head	\$32,813 \$32,813	
400-500 lbs. Heifer Calves (Total) Cattle & Calves (Total) HORSES Brood Mares	*	450 No. Cows	40	head	\$18,603 \$18,603 \$51,416	
Race Horses Brood Mares (Total)	*	10 No. Brood Mares	7	head	\$56,000 \$56,000 Page 3 of 4	

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
HORSES						
Race Horses	*		30	head	\$300,000	
Show Horses	*		6	head	\$24,000	
Recreation Horses	12		20	head	\$30,000	
Horses (Total)					\$410,000	
POULTRY						
Edible Eggs	*	10 No. Hens		doz. eggs solo	b	
Poultry (Total)						
SWINE						
Show Pigs			4	head	\$1,320	
Swine (Total)	*	No. Sows			\$1,320	
TOTAL ALL ANIMAL E	INTERPRISES				\$462,736	
ST. JOHN PARISH T	OTAL				\$4,787,223	